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CONGRUENCY OF TRIANGLES

11s APQR =~ AXY Z ? Also, write the corresponding angles of the two

triangles.

& cm

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6eN7pSwJIKCW

2. See the measurements of the triangles given below. Are the triangles

congruent? Which are the corresponding vertices and angles?

C

° Watch Video Solution

3.In APQR, PQ = PR and PS is angle bisector of /P . Are APQS and

APRS congruent? If yes, give reason.

° Watch Video Solution

4.Two triangles ACAB and ARPQ are given below. Check whether the

two are congurent? If they are congruent, what can you say about the


https://dl.doubtnut.com/l/_4UjKbHi02wXK
https://dl.doubtnut.com/l/_OQPsiU7Oj1ot
https://dl.doubtnut.com/l/_uh9ex2075JPI

measures of the remaining elements of the triangles.

A T cm B P Jem - Q

o Watch Video Solution

5. In the following picture, the equal angles in the two triangles are

shown. Are the triangles congruent?


https://dl.doubtnut.com/l/_uh9ex2075JPI
https://dl.doubtnut.com/l/_CScYdILvlpz4

° Watch Video Solution

6. Given below are measurements of some part of two triangles.Check
whether the two triangles are congruent or not,using RHS congurence
rule.In case of congruent triangle,write the result in symboilic form:

(AABC, APQR)(4B = 90°, AC = 8cm, AB = 3cm, /P = 90°, PR =

° Watch Video Solution



https://dl.doubtnut.com/l/_CScYdILvlpz4
https://dl.doubtnut.com/l/_BTrWcKSVYcRF

7. Given below are measurements of some part of two triangles.Check
whether the two triangles are congruent or not,using RHS congurence
rule.In case of congruent triangle,write the result in symboilic form:

(AABC, APQR)(4B =90°, AC = 8m, AB = 3cm, /P = 90°, PR =

° Watch Video Solution

8. In the adjacent figure, DA | AB,CB 1 AB and AC = BD. Prove

that

D [

Al g

AABC = ABAD

° Watch Video Solution



https://dl.doubtnut.com/l/_5LcQgCP7yyVQ
https://dl.doubtnut.com/l/_vTqiXN4aaP19
https://dl.doubtnut.com/l/_cbWYK32JnQMA

9. In the adjacent figure, DA 1| AB,CB 1 AB and AC = BD. Prove

that

D C

A B

AABC = ABAD

° Watch Video Solution

10.1s APQR = AXY Z ? Also, write the corresponding angles of the

two triangles.

R Gem Q

° Watch Video Solution



https://dl.doubtnut.com/l/_cbWYK32JnQMA
https://dl.doubtnut.com/l/_yneT1sOUETnP

11. See the measurements of the triangles given below. Are the triangles

congruent? Which are the corresponding vertices and angles?

C

4 o

o Watch Video Solution

12.In APQR, PQ = PR and PS is angle bisector of ZP . Are APQS and

APRS congruent? If yes, give reason.

o Watch Video Solution

13. Two triangles ACAB and ARPQ are given below. Check whether

the two are congurent? If they are congruent, what can you say about the


https://dl.doubtnut.com/l/_DUPOCHbbBb8m
https://dl.doubtnut.com/l/_Aybb5F6WOOVN
https://dl.doubtnut.com/l/_MuCudE7ZKyUf

measures of the remaining elements of the triangles.

A T cm B P Jem - Q

o Watch Video Solution

14. In the following picture, the equal angles in the two triangles are

shown. Are the triangles congruent?


https://dl.doubtnut.com/l/_MuCudE7ZKyUf
https://dl.doubtnut.com/l/_K5wzfj5dZsll

° Watch Video Solution

15. Given below are measurements of some part of two triangles.Check
whether the two triangles are congruent or not,using RHS congurence
rule.In case of congruent triangle,write the result in symboilic form:

(AABC, APQR)(4B = 90°, AC = 8cm, AB = 3cm, ZP = 90°, PR =

° Watch Video Solution



https://dl.doubtnut.com/l/_K5wzfj5dZsll
https://dl.doubtnut.com/l/_s2tcYsuqNWu3

16. Given below are measurements of some part of two triangles.Check
whether the two triangles are congruent or not,using RHS congurence
rule.In case of congruent triangle,write the result in symboilic form:

(AABC, APQR)(4B =90°, AC = 8m, AB = 3cm, /P = 90°, PR =

° Watch Video Solution

17.In the adjacent figure, DA 1. AB,CB | AB and AC = BD. Prove

that

D [

Al g

AABC = ABAD

° Watch Video Solution



https://dl.doubtnut.com/l/_AMIL2g279OKl
https://dl.doubtnut.com/l/_9kp9spGJqEix
https://dl.doubtnut.com/l/_RTsKR4gdBwBw

18.In the adjacent figure DA | AB,CB | AB and AC = BD.

Is AABC =~ ABAD

D C

A =B

o Watch Video Solution

1. Here are some shapes. See whether all the shapes given in a row are

congruent to each other or not. You can trace the figures and check.


https://dl.doubtnut.com/l/_RTsKR4gdBwBw
https://dl.doubtnut.com/l/_wJjtsJq5sSYY

° Watch Video Solution

2. Here are some shapes. See whether all the shapes given in a row are

congruent to each other or not. You can trace the figures and check.



https://dl.doubtnut.com/l/_wJjtsJq5sSYY
https://dl.doubtnut.com/l/_NYI8cgiGZE7D

o Watch Video Solution

3. Here are some shapes. See whether all the shapes given in a row are

congruent to each other or not. You can trace the figures and check.

o Watch Video Solution



https://dl.doubtnut.com/l/_NYI8cgiGZE7D
https://dl.doubtnut.com/l/_E7izPhrB1rNJ

4. Which of the following pair of figures are congruent?

° Watch Video Solution

5. Which of the following pair of figures are congruent?



https://dl.doubtnut.com/l/_ecuJqE2oYTL0
https://dl.doubtnut.com/l/_LB5ZqWWLOmpT

| ° Watch Video Solution

6. Which of the following pair of figures are congruent?

° Watch Video Solution



https://dl.doubtnut.com/l/_LB5ZqWWLOmpT
https://dl.doubtnut.com/l/_aPgsU1djPl4S

7. Which of the following pair of figures are congruent?

° Watch Video Solution

8. Which of the following pairs of figures are congruent?

OC


https://dl.doubtnut.com/l/_vHjH3wWJp9FT
https://dl.doubtnut.com/l/_2o7EkzBopQCK

° Watch Video Solution

9. Which of the following pairs of figures are congruent?

] A

° Watch Video Solution

10. AEFG =~ ALMN
N
E
F/\G

Write the corresponding vertices, angles and sides of the two triangles.

° Watch Video Solution



https://dl.doubtnut.com/l/_2o7EkzBopQCK
https://dl.doubtnut.com/l/_7MiVjrc52J61
https://dl.doubtnut.com/l/_7ZDEeKJJqW8E
https://dl.doubtnut.com/l/_SkAE9caRCVk5

M.If AABC =~ ADEF, write the parts of AABC that correspond to DE

° Watch Video Solution

12. If AABC = ADEF, write the parts of AABC that correspond to

ZE.

° Watch Video Solution

13.1f AABC =~ ADEF, write the parts of AABC that correspond to DF

° Watch Video Solution

14.1f AABC =~ ADEF,write the parts of AABC'that correspond to EF .

° Watch Video Solution



https://dl.doubtnut.com/l/_SkAE9caRCVk5
https://dl.doubtnut.com/l/_hbJR6RtzOeCQ
https://dl.doubtnut.com/l/_XgEvRBkffAbh
https://dl.doubtnut.com/l/_ICiN2SbdweYb

15. If AABC =~ ADEF, write the parts of AABC that correspond to

LF

° Watch Video Solution

16. Name the congruent triangles in each of the following pairs. Write the

statement using " =’

o Watch Video Solution

17. Name the congruent angles and sides for each pair of congruent

triangles : ATUV =~ AXY Z

[ o |


https://dl.doubtnut.com/l/_ICiN2SbdweYb
https://dl.doubtnut.com/l/_IQSXCQJUeNcL
https://dl.doubtnut.com/l/_ygK20x07bXvU
https://dl.doubtnut.com/l/_D80koAfIA5YV

I & Watch Video Solution ]

18. Name the congruent angles and sides for each pair of congruent

triangles : ACDG = ARSW

o Watch Video Solution

19. Here are some shapes. See whether all the shapes given in a row are

congruent to each other or not. You can trace the figures and check.

o Watch Video Solution



https://dl.doubtnut.com/l/_D80koAfIA5YV
https://dl.doubtnut.com/l/_fMptgjhKXzuA
https://dl.doubtnut.com/l/_87AKkLHAKNBy
https://dl.doubtnut.com/l/_g2ThZtP0oqeC

20. Here are some shapes. See whether all the shapes given in a row are

congruent to each other or not. You can trace the figures and check.

o Watch Video Solution

21. Here are some shapes. See whether all the shapes given in a row are

congruent to each other or not. You can trace the figures and check.


https://dl.doubtnut.com/l/_g2ThZtP0oqeC
https://dl.doubtnut.com/l/_pBZr4Qs5h2i9

° Watch Video Solution

22. Which of the following pair of figures are congruent?

o Watch Video Solution



https://dl.doubtnut.com/l/_pBZr4Qs5h2i9
https://dl.doubtnut.com/l/_wnstYTmFl8Sf

23. Which of the following pair of figures are congruent?

% 0.
A W

O ﬁﬂ

° Watch Video Solution

. DE{:}

v)



https://dl.doubtnut.com/l/_wnstYTmFl8Sf
https://dl.doubtnut.com/l/_c0fu3p0EL5ng

24. Which of the following pair of figures are congruent?

° Watch Video Solution

25. Which of the following pair of figures are congruent?



https://dl.doubtnut.com/l/_kw2NP2aPIqJ9
https://dl.doubtnut.com/l/_RhPnxw5WZIPv

| ° Watch Video Solution

26. Which of the following pair of figures are congruent?

° Watch Video Solution



https://dl.doubtnut.com/l/_RhPnxw5WZIPv
https://dl.doubtnut.com/l/_M4cq3M5ijWHK

27. Which of the following pair of figures are congruent?

° Watch Video Solution

28. AEFG =~ ALMN

Write the corresponding vertices, angles and sides of the two triangles.

° Watch Video Solution



https://dl.doubtnut.com/l/_Y7LuIZk7lbOv
https://dl.doubtnut.com/l/_i2E6w12FbQyp

29.1f AABC = ADEF,write the parts of AABC that correspond to DE

° Watch Video Solution

30.1f AABC =~ ADEF write the parts of AABC that correspond to

LF

° Watch Video Solution

31.1f AABC =~ ADEF, write the parts of AABC that correspond to DF

° Watch Video Solution

32.If AABC = ADEF, write the parts of AABC'that correspond to EF



https://dl.doubtnut.com/l/_ZNxBcZLus8pB
https://dl.doubtnut.com/l/_nAetl5ro0gji
https://dl.doubtnut.com/l/_js727STAsrtQ
https://dl.doubtnut.com/l/_LrEVf7rwY2JD

| & Watch Video Solution I

33.If AABC = ADEF write the parts of AABC that correspond to

LF

° Watch Video Solution

34. Name the congruent triangles in each of the following pairs. Write the

statement using ' = ’

° Watch Video Solution



https://dl.doubtnut.com/l/_LrEVf7rwY2JD
https://dl.doubtnut.com/l/_XjBPzQ8wuHeU
https://dl.doubtnut.com/l/_c1tVTBWrD0Me

35. Name the congruent angles and sides for each pair of congruent

triangles : ATUV =~ AXY Z

° Watch Video Solution

36. Name the congruent angles and sides for each pair of congruent

triangles : ACDG =~ ARSW

° Watch Video Solution

1. Measure the lengths of ALMN . Now , construct a triangle with these

measurements on a sheet of paper. Place this triangle over ALMN . Are


https://dl.doubtnut.com/l/_i7s68vQJpIxD
https://dl.doubtnut.com/l/_AEKsVPcMb8xo
https://dl.doubtnut.com/l/_ZBxEUA0asLk9

the triangles congruent? What criterion of congruency applies over here?

L

° Watch Video Solution

2. In APQR measure the lengths PQ and QR as well as ZQ. Now,
construct a triangle with these three measurements on a sheet of paper.
Place this triangle over APQR. Are the triangles congruent? What

criterion of congruency applies over here ?

P



https://dl.doubtnut.com/l/_ZBxEUA0asLk9
https://dl.doubtnut.com/l/_J4j8gFBRiQay

I & Watch Video Solution ]

3. Is the following pair of triangles congurent? Give reason to support

your answer.

° Watch Video Solution

4. In the figures given below, measures of some parts of triangles are
given. By applying RHS congruence rule, state which pairs of triangles are

congruent. In case of congruent triangles, write the result in symbolic


https://dl.doubtnut.com/l/_J4j8gFBRiQay
https://dl.doubtnut.com/l/_Ce6JWDJQ3smw
https://dl.doubtnut.com/l/_4X6JGIEuJ0Sw

form.

B

a{° o
] R g [ ]

° Watch Video Solution

o

o 3em

Mgy

5. By applying RHS congruence rule, state triangles are congruent. In case

of congruent triangles, write the result in symbolic form.

o Watch Video Solution



https://dl.doubtnut.com/l/_4X6JGIEuJ0Sw
https://dl.doubtnut.com/l/_ocfMW0XzoI71
https://dl.doubtnut.com/l/_nTL83rvZaZg3

6. In the figures given below, measures of some parts of triangles are
given. By applying RHS congruence rule, state which pairs of triangles are
congruent. In case of congruent triangles, write the result in symbolic

form.

o Watch Video Solution

7. By applying RHS congruence rule, state which pairs of triangles are

congruent. In case of congruent triangles, write the result in symbolic


https://dl.doubtnut.com/l/_nTL83rvZaZg3
https://dl.doubtnut.com/l/_UNFhXFq9poid

form.

o Watch Video Solution

8.1t is to be established by R.H.S congruence rule that AABC =~ ARPQ.
What additional information is needed, if it is given that

/B = /P = 90° and AB=RP?

o Watch Video Solution



https://dl.doubtnut.com/l/_UNFhXFq9poid
https://dl.doubtnut.com/l/_uuOP90qXdB5b

9. In the adjacent figure, BD and CE are altitudes of AABC such that

BD= CE.

A

B C

State the three pairs of equal parts in ACBD and ABCE.

o Watch Video Solution

10. In the adjacent figure, BD and CF are altitudes of AABC such that

BD=CE.Is ACBD =~ ABCE ? Why or why not?


https://dl.doubtnut.com/l/_TQJFSmxu5yeL
https://dl.doubtnut.com/l/_hWUht4lyXRgh

B C

o Watch Video Solution

11.In the adjacent figure, BD and CE are altitudes of AABC such that

BD=CE.Is ACBD =~ ABCE ? Why or why not?


https://dl.doubtnut.com/l/_hWUht4lyXRgh
https://dl.doubtnut.com/l/_FCVfzTeCtMZp

B C

o Watch Video Solution

12. ABC is an isoscles triangle with AB = AC and AD is one of its

altitudes (fig..).


https://dl.doubtnut.com/l/_FCVfzTeCtMZp
https://dl.doubtnut.com/l/_5uq25nevVrLt

‘ |
B S C

State the three pairs of equal parts in AADB and AADC.

o Watch Video Solution

13. ABC is an isoscles triangle with AB = AC and AD is one of its

altitudes.1s AADB =~ AADC ? Why or why not?


https://dl.doubtnut.com/l/_5uq25nevVrLt
https://dl.doubtnut.com/l/_jE3kxWNsOb4E

B L | C

o Watch Video Solution

14. ABC is an isosceles triangle with AB = AC and AD is one of its

altitudes (fig.).Is A ABD =~ A ACD ? Why or why not?


https://dl.doubtnut.com/l/_jE3kxWNsOb4E
https://dl.doubtnut.com/l/_qdmbx2ncMYZx

B L | C

o Watch Video Solution

15. ABC is an isoscles triangle with AB = AC and AD is one of its

altitudes.Is BD = CD ? Why or why not?


https://dl.doubtnut.com/l/_qdmbx2ncMYZx
https://dl.doubtnut.com/l/_1NExluJu4FP1

B L | C

° Watch Video Solution

16. Measure the lengths of ALMN . Now, construct a triangle with these

measurements on a sheet of paper. Place this triangle over ALMN . Are


https://dl.doubtnut.com/l/_1NExluJu4FP1
https://dl.doubtnut.com/l/_328sPgQV9Dhy

the triangles congruent? What criterion of congruency applies over here?

L

° Watch Video Solution

17. In APQR measure the lengths PQ and QR as well as Z@Q. Now,
construct a triangle with these three measurements on a sheet of paper.
Place this triangle over APQR. Are the triangles congruent? What

criterion of congruency applies over here ?

P



https://dl.doubtnut.com/l/_328sPgQV9Dhy
https://dl.doubtnut.com/l/_UoCuo8moRTvx

I & Watch Video Solution ]

18. Is the following pair of triangles congurent? Give reason to support

your answer.

° Watch Video Solution

19. In the figures given below, measures of some parts of triangles are
given. By applying RHS congruence rule, state which pairs of triangles are

congruent. In case of congruent triangles, write the result in symbolic


https://dl.doubtnut.com/l/_UoCuo8moRTvx
https://dl.doubtnut.com/l/_Xa4fU2LArGXl
https://dl.doubtnut.com/l/_H5hnhUgxHfLV

form.

B

a{° o
] R g [ ]

° Watch Video Solution

o

o 3em

Mgy

20. By applying RHS congruence rule, state triangles are congruent. In

case of congruent triangles, write the result in symbolic form.

o Watch Video Solution



https://dl.doubtnut.com/l/_H5hnhUgxHfLV
https://dl.doubtnut.com/l/_l2rOtNSF2Rgt
https://dl.doubtnut.com/l/_py0P0WBvsZTK

21. In the figures given below, measures of some parts of triangles are
given. By applying RHS congruence rule, state which pairs of triangles are
congruent. In case of congruent triangles, write the result in symbolic

form.

o Watch Video Solution

22. By applying RHS congruence rule, state which pairs of triangles are

congruent. In case of congruent triangles, write the result in symbolic


https://dl.doubtnut.com/l/_py0P0WBvsZTK
https://dl.doubtnut.com/l/_GabpkRpvy7nJ

form.

o Watch Video Solution

23. It is to be established by RHS congruence rule that
AABC =~ ARPQ. What additional information is needed, if it is given

that /B = /P = 90° and AB=RP ?

o Watch Video Solution



https://dl.doubtnut.com/l/_GabpkRpvy7nJ
https://dl.doubtnut.com/l/_xns1aJe6U1aw

24.n the adjacent figure, BD and CE are altitudes of AABC such that

BD= CE.

A

B C

State the three pairs of equal parts in ACBD and ABCE.

o Watch Video Solution

25.In the adjacent figure, BD and CE are altitudes of AABC such that

BD=CE.Is ACBD =~ ABCE ? Why or why not?


https://dl.doubtnut.com/l/_3JNtkpEBZRdV
https://dl.doubtnut.com/l/_80G4VEBhjUkd

B C

o Watch Video Solution

26. In the adjacent figure, BD and CE are altitudes of AABC such that BD

=CE


https://dl.doubtnut.com/l/_80G4VEBhjUkd
https://dl.doubtnut.com/l/_Peu7sB68CUqI

Is /ZDBC = ZECB ? Why or why not

A

B C

o Watch Video Solution

27. ABC is an isoscles triangle with AB = AC and AD is one of its

altitudes (fig..).


https://dl.doubtnut.com/l/_Peu7sB68CUqI
https://dl.doubtnut.com/l/_LCYuLHCBWLqN

‘ |
B S C

State the three pairs of equal parts in AADB and AADC.

o Watch Video Solution

28. ABC is an isoscles triangle with AB = AC and AD is one of its

altitudes.1s AADB =~ AADC ? Why or why not?


https://dl.doubtnut.com/l/_LCYuLHCBWLqN
https://dl.doubtnut.com/l/_FpEVxxi8AHNU

B{— L C

° Watch Video Solution

1. Decide whether the SSS congruence is true with the following figures.

Give reasons


https://dl.doubtnut.com/l/_FpEVxxi8AHNU
https://dl.doubtnut.com/l/_IaaRAMdFCOCj

° Watch Video Solution

2. Decide whether the SSS congruence is true with the following figures.

Give reasons


https://dl.doubtnut.com/l/_IaaRAMdFCOCj
https://dl.doubtnut.com/l/_l3ZvuEx6z35W

° Watch Video Solution

3. For the following congurent triangles, find the pairs of corresponding

angles.


https://dl.doubtnut.com/l/_l3ZvuEx6z35W
https://dl.doubtnut.com/l/_qSsc4eHZtc7e

° Watch Video Solution

4. For the following congurent triangles, find the pairs of corresponding

angles.


https://dl.doubtnut.com/l/_qSsc4eHZtc7e
https://dl.doubtnut.com/l/_s6MIGPRzGl9f

o Watch Video Solution



https://dl.doubtnut.com/l/_s6MIGPRzGl9f

5.In adjacent figure, choose the correct answer!

A.APQR =~ APQS

B. APQR =~ AQPS

C.APQR =~ ASQP

D. APQR =~ ASPQ

Answer: C


https://dl.doubtnut.com/l/_vSPJLwoPPziz

° Watch Video Solution

6. In the figure given below, AB= DC and AC=DB. Is AABC =~ ADCB ?

° Watch Video Solution

1. What additional information do you need to conclude that the two

triangles given here under are congruent using SAS rule?


https://dl.doubtnut.com/l/_vSPJLwoPPziz
https://dl.doubtnut.com/l/_rqI26XBreuL2
https://dl.doubtnut.com/l/_2zuJOtmRxJLo

o Watch Video Solution

2.The map given below shows five different villages. Village M lies exactly
halfway between the two pairs of villages A and B as well as P and Q.
What is the distance between village A and village P. (Hint: check if

APAM =~ AQBM)



https://dl.doubtnut.com/l/_2zuJOtmRxJLo
https://dl.doubtnut.com/l/_fWCQK9exIQtG

° Watch Video Solution

3. Look at the pairs of triangles given below. Are the congurent? If

congruent write the corresponding parts.

R

150

o Watch Video Solution



https://dl.doubtnut.com/l/_fWCQK9exIQtG
https://dl.doubtnut.com/l/_JOBFZTA19QU4

4. Look at the pairs of triangles given below. Are they congruent ? If

congruent write the corresponding parts.

° Watch Video Solution



https://dl.doubtnut.com/l/_2j8devGjW8Gg

5. Look at the pairs of triangles given below. Are they congruent ? If

congruent write the corresponding parts.

37em’
e ]

° Watch Video Solution



https://dl.doubtnut.com/l/_Iz6jHyC9Wzvf

6. Look at the pairs of triangles given below. Are they congruent ? If

congruent write the corresponding parts.

37em’
e ]

° Watch Video Solution



https://dl.doubtnut.com/l/_7OU6nVBQj0Ex

7. Which corresponding sides do we need to know to prove that the

triangles are congruent using the SAS criterion?

L em
A P Q
490°

° Watch Video Solution

8. Which corresponding sides do we need to know to prove that the

triangles are congruent using the SAS criterion?


https://dl.doubtnut.com/l/_RvPFhPDtXnSi
https://dl.doubtnut.com/l/_5sj45u0S8nLg

o Watch Video Solution

1. In following pairs of triangles, find the pairs which are congruent? Also,

write the criterion of congruence.


https://dl.doubtnut.com/l/_5sj45u0S8nLg
https://dl.doubtnut.com/l/_xKFL0GcciKqo

° Watch Video Solution

2. In following pairs of triangles, find the pairs which are congruent? Also,

write the criterion of congruence.

A E

o Watch Video Solution



https://dl.doubtnut.com/l/_xKFL0GcciKqo
https://dl.doubtnut.com/l/_hjSdttBeNJay

3.In following pairs of triangles, find the pairs which are congruent? Also,

write the criterion of congruence.

° Watch Video Solution

4. In following pairs of triangles, find the pairs which are congruent? Also,

write the criterion of congruence.


https://dl.doubtnut.com/l/_lheF3VXXu0wx
https://dl.doubtnut.com/l/_oqZ5tYPM0XGb

o Watch Video Solution

5.In the adjacent figure. Are AABC and ADCB congruent?

Also identify the relation between corresponding elements and give


https://dl.doubtnut.com/l/_oqZ5tYPM0XGb
https://dl.doubtnut.com/l/_YKyl2pcc3sWa

reason for your answer.

&0
B C

o Watch Video Solution

6. In the adjacent figure. Are AABC and ADCB congruent?

Also identify the relation between corresponding elements and give


https://dl.doubtnut.com/l/_YKyl2pcc3sWa
https://dl.doubtnut.com/l/_lYEKHe6aUm4B

reason for your answer.

&0
B C

o Watch Video Solution

1. Which congruence criterion do you use in the following?

Given: AC=DF


https://dl.doubtnut.com/l/_lYEKHe6aUm4B
https://dl.doubtnut.com/l/_srvWIAjb2wuD

AB= DE
BC=EF

So, AABC =~ ADEF

° Watch Video Solution

2. Which congruence criterion do you use in the following?
Given: ZX=RP

RQ = ZY

/RPQ = /XZY

So, APQR =~ AXYZ

R Z



https://dl.doubtnut.com/l/_srvWIAjb2wuD
https://dl.doubtnut.com/l/_7fJZtjhMljau

| o Watch Video Solution

3. Which congruence criterion do you use in the following?
Given: ZMLN = /FGH

/NML =~ /GFH

ML = FG

So, ALMN = AGFH

L H

° Watch Video Solution

4. Which congruence criterion do you use in the following?
Given: EB= DB
AE=BC

LA =/2C =90°


https://dl.doubtnut.com/l/_7fJZtjhMljau
https://dl.doubtnut.com/l/_1FHDApJO8E76
https://dl.doubtnut.com/l/_Zuk1FfP8j4yX

So, AABE =~ ACDB

o Watch Video Solution

5.You want to show that AART =~ APEN,

(i) If you have to use SSS criterion, then you need to show

(@) AR=(b) RT=(c) AT=

(ii) If it is given that /T = ZN and you are to use SAS criterion, you need
to have

(a) RT=and (b) PN=

(iii) If it is given that AT = PN and you are to use ASA criterion, you need to

have


https://dl.doubtnut.com/l/_Zuk1FfP8j4yX
https://dl.doubtnut.com/l/_PLyNiwkK5Ipb

(@) ?(b)?

° Watch Video Solution

6. You have to show that A AMP >~ AAMQ.

In the following proof, supply the missing reasons.


https://dl.doubtnut.com/l/_PLyNiwkK5Ipb
https://dl.doubtnut.com/l/_2GHG6jEvBMZK

Steps Beasons

i PM=QM [ R
(i) PMA=Z0MA | (i) oo
(i) AM = AM| T

W) AAMP = AAMOQ | (iv) ...

o Watch Video Solution

7. In AABC,/A=30°,/B=40° and ZC =110° . In
APQR, /P = 30°, Z/Q = 40° and ZR = 110°. A student says that
AABC =~ APQR by AAA congruence criterion. Is he justified ? Why or

why not?

o Watch Video Solution

8.In the figure, the two triangles are congruent. The corresponding parts

are marked. We can write ARAT =~ ?


https://dl.doubtnut.com/l/_2GHG6jEvBMZK
https://dl.doubtnut.com/l/_mZN2KL5Bvsz4
https://dl.doubtnut.com/l/_F4VE3tzb1V3G

o Watch Video Solution

9. Complete the congruence statement.

.P 9

AABC =7 AQRS =7

° Watch Video Solution



https://dl.doubtnut.com/l/_F4VE3tzb1V3G
https://dl.doubtnut.com/l/_TKm2Pvuo7xRk

10. In a squared sheet, draw two triangles of equal areas such that
the triangles are congruent

What can you say about their perimeters?

° Watch Video Solution

11.In a squared sheet, draw two triangles of equal areas such that
the triangles are congruent

What can you say about their perimeters?

° Watch Video Solution

12. If AABC and APQR are to be congruent, name one additional pair

of corresponding parts. What criterion did you use?

° Watch Video Solution



https://dl.doubtnut.com/l/_xjXxasTF2IG8
https://dl.doubtnut.com/l/_0jsteE1qd2wY
https://dl.doubtnut.com/l/_pCqxSQwsJlvb

13. Explain why AABC =~ AFED.

A D I |_E

g1 . F

o Watch Video Solution

1. Decide whether the SSS congruence is true with the following figures.

Give reasons


https://dl.doubtnut.com/l/_wtZyxklCC7sh
https://dl.doubtnut.com/l/_ror1KHDkdQjk

° Watch Video Solution

2. Decide whether the SSS congruence is true with the following figures.

Give reasons


https://dl.doubtnut.com/l/_ror1KHDkdQjk
https://dl.doubtnut.com/l/_75499q6jLjoz

° Watch Video Solution

3. For the following congruent triangles, find the pairs of corresponding

angles.


https://dl.doubtnut.com/l/_75499q6jLjoz
https://dl.doubtnut.com/l/_5ZWJgZoRAEzL

° Watch Video Solution

4. For the following congruent triangles, find the pairs of corresponding

angles.


https://dl.doubtnut.com/l/_5ZWJgZoRAEzL
https://dl.doubtnut.com/l/_Z0CnS4NyXDdu

5 cm

° View Text Solution



https://dl.doubtnut.com/l/_Z0CnS4NyXDdu

5.In adjacent figure, choose the correct answer

APQR = APQS (ii) APQR=AQPS (iii) APQR=ASQP (iv) APQR=ASPQ

o Watch Video Solution



https://dl.doubtnut.com/l/_egLlyM3NFyOn

6. In adjacent figure, correct the answer

APQR = AQPS

o Watch Video Solution



https://dl.doubtnut.com/l/_Z51W4Z4vV4js

7.1n adjacent figure, choose the correct answer

APQR =~ ASQP

o Watch Video Solution



https://dl.doubtnut.com/l/_HU2Lu74FB8s9

8. In the figure given below, AB= DC and AC=DB. Is AABC =~ ADCB ?

o Watch Video Solution

1. What additional information do you need to conclude that the two

triangles given here under are congruent using SAS rule?


https://dl.doubtnut.com/l/_xVOTOzALdTtJ
https://dl.doubtnut.com/l/_1ogXgNAbRRTB

o Watch Video Solution

2.The map given below shows five different villages. Village M lies exactly
halfway between the two pairs of villages A and B as well as P and Q.
What is the distance between village A and village P. (Hint: check if

APAM =~ AQBM)



https://dl.doubtnut.com/l/_1ogXgNAbRRTB
https://dl.doubtnut.com/l/_epfBxfQQOtDC

° Watch Video Solution

3. Look at the pairs of triangles given below. Are the congurent? If

congruent write the corresponding parts.

R

150

o Watch Video Solution



https://dl.doubtnut.com/l/_epfBxfQQOtDC
https://dl.doubtnut.com/l/_WKdIN8FguSSE

4. Look at the pairs of triangles given below. Are they congruent ? If

congruent write the corresponding parts.

° Watch Video Solution



https://dl.doubtnut.com/l/_UfzDA60xgqsq

5. Look at the pairs of triangles given below. Are they congruent ? If

congruent write the corresponding parts.

37em’
e ]

° Watch Video Solution



https://dl.doubtnut.com/l/_4dtN7Sm0aa2s

6. Look at the pairs of triangles given below. Are they congruent ? If

congruent write the corresponding parts.

37em’
e ]

° Watch Video Solution



https://dl.doubtnut.com/l/_DiiRWQum8IV8

7. Which corresponding sides do we need to know to prove that the

triangles are congruent using the SAS criterion?

L em
A P Q
490°

° Watch Video Solution

8. Which corresponding sides do we need to know to prove that the

triangles are congruent using the SAS criterion?


https://dl.doubtnut.com/l/_qvWH2Mw4ahc0
https://dl.doubtnut.com/l/_uHCuGNB9Duic

o Watch Video Solution

1. In following pairs of triangles, find the pairs which are congruent? Also,

write the criterion of congruence.


https://dl.doubtnut.com/l/_uHCuGNB9Duic
https://dl.doubtnut.com/l/_R9oHZcf5WIXH

° Watch Video Solution

2.In following pairs of triangles, find the pairs which are congruent? Also,

write the criterion of congruence.

A E

o Watch Video Solution



https://dl.doubtnut.com/l/_R9oHZcf5WIXH
https://dl.doubtnut.com/l/_6nnAWis4CoWR

3.In following pairs of triangles, find the pairs which are congruent? Also,

write the criterion of congruence.

° Watch Video Solution

4. In following pairs of triangles, find the pairs which are congruent? Also,

write the criterion of congruence.


https://dl.doubtnut.com/l/_4AmaCUe7y4NQ
https://dl.doubtnut.com/l/_45t2ii2FefIo

o Watch Video Solution

5.1n the adjacent figure
(i) Are AABC and ADCB congruent ?

(ii) Are AAOB congruent to ADOC'?

Also identify the relation between corresponding elements and give


https://dl.doubtnut.com/l/_45t2ii2FefIo
https://dl.doubtnut.com/l/_rNmZils4wRE1

reason for your answer

A

° Watch Video Solution

Exerciese 4


https://dl.doubtnut.com/l/_rNmZils4wRE1

1. Which congruence criterion do you use in the following?
Given: AC= DF

AB=DE

BC= EF

So, AABC =~ ADEF

=
3
m
ﬁ

o Watch Video Solution

2. Which congruence criterion do you use in the following?
Given: ZX=RP
RQ = ZY

/ZRPQ = /XZY


https://dl.doubtnut.com/l/_efytDtgsFi4O
https://dl.doubtnut.com/l/_tXB41GBBILTf

So, APQR =~ AXYZ

R Z

° Watch Video Solution

3. Which congruence criterion do you use in the following?
Given: ZMLN = /FGH

/NML =~ /GFH

ML=FG

So, ALMN = AGFH

L

° Watch Video Solution



https://dl.doubtnut.com/l/_tXB41GBBILTf
https://dl.doubtnut.com/l/_5iVhM9e9bg72

4. Which congruence criterion do you use in the following?
Given: EB= DB

AE=BC

/A =/C =90°

So, AABE =~ ACDB

o Watch Video Solution

5.You want to show that AART =~ APEN,
(i) If you have to use SSS criterion, then you need to show
(a) AR=(b) RT=(c ) AT=

(ii) If it is given that ZT" = ZN and you are to use SAS criterion, you need


https://dl.doubtnut.com/l/_as6OiRnSGhmB
https://dl.doubtnut.com/l/_e6JOgKl1OAvu

to have
(a) RT=and (b) PN=

(iii) If it is given that AT = PN and you are to use ASA criterion, you need to

have
(@)?(b)?
R T
E ™

° Watch Video Solution



https://dl.doubtnut.com/l/_e6JOgKl1OAvu

6. You have to show that AAMP =~ AAMQ.

In the following proof, supply the missing reasons.

Steps Reasons A
i PM=QM (T R—
(i) PMAz=AOMA | (i) ...
(i} AM=AM| Ty E— ) \
W) AAMP = AAMOQ | (W) ... Pfi——"-‘__ M g

o Watch Video Solution

7 In AABC,/A=30°,Z/B=40° and ZC =110° . In
APQR, /P =30°,/Q = 40° and ZR = 110°. A student says that
AABC =~ APQR by AAA congruence criterion. Is he justified ? Why or

why not?

o Watch Video Solution

8.In the figure, the two triangles are congruent. The corresponding parts

are marked. We can write ARAT =~ ?


https://dl.doubtnut.com/l/_VtWNizavdrNQ
https://dl.doubtnut.com/l/_3eyFci4GOxnn
https://dl.doubtnut.com/l/_wAFDM9o8Yutk

o Watch Video Solution

9. Complete the congruence statement.

T P 4 Q
B A
T
C
AABC =7 AQRS =7

° Watch Video Solution



https://dl.doubtnut.com/l/_wAFDM9o8Yutk
https://dl.doubtnut.com/l/_GHuqeKi3CqPm

10. In a squared sheet, draw two triangles of equal areas such that
the triangles are congruent

What can you say about their perimeters?

° Watch Video Solution

M. If AABC and APQR are to be congruent, name one additional pair

of corresponding parts. What criterion did you use?

° Watch Video Solution

12. Explain,why AABC =~ AFED

s P —



https://dl.doubtnut.com/l/_aPc8DVWhpPDF
https://dl.doubtnut.com/l/_CPDXUk4zeS6w
https://dl.doubtnut.com/l/_qNuZhmgNrMqp

| @ Watch Video Solution



https://dl.doubtnut.com/l/_qNuZhmgNrMqp

